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Perfective/Completed Action Aspect
(A one-time action that has been completed)

Decoding the Mystery of the Hindi Perfective or Completed Action aspect:

I. In Hindi, the Perfective or Completed Action (CA) aspect is used to convey that an
actual one time action has been completed. These are equivalent to the English, “I
came”, “I saw”, “I conquered”.

Sometimes, depending on the context, a more detailed time frame is given as to whether
the action was completed recently or more in the remote past. The recent past Perfect
tense is equivalent to the English I have come”, “I have seen”, “I have conquered”,
while the remote past Perfect tense is equivalent to the English, I had come”, “I had
seen”’, “I had conquered”.

Formula:

(i) The formula for conjugating (forming) verbs in the Perfective (CA) aspect in Hindi
is:

Existing binary (Male/Female) conjugations Stem + 311/ /3] (applying )
Factoring in a non-binary**conjugation Stem + 1T/ IHEEUEN (applying )

(1) To indicate that the action was completed recently, one tags on the present tense of the
auxiliary verb EHMT. The formula for the recent Perfective (CA) aspectual conjugation
in Hindi is:

with non-binary factored in : Stem + 311/ /3/3m (applying *) followed by

FEl) present

(i11) To indicate that the action was completed a while ago, one tags on the past tense of
the auxiliary verb EHT. The formula for conjugating the remote Perfective (CA) aspect
in Hindi is:

with non-binary factored in: Stem + 311/ e (applying *) followed by

BT past
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[ :
31T ending for Masculine Singular (MS);
ending for Masculine Plural (MP)
2 (2) ending for Feminine Singular & Plural (FS/FP), where ¢ is
sometimes nasalized in the Plural]
3Tt (3T ending for Non-binary Singular & Plural (NBS/NBP#*),

where 2T is sometimes nasalized in the Plural]

Note: In # (ii) above, i.c. the recent past and # (iii) above, i.e. the remote past Perfect/
CA conjugations, the Perfect or CA participle, in other words the Stem + 311/ e

(applying ) portion of the conjugation, for FS & FP conjugation is the
same, and the NBS and NBP conjugation is the same. This is because in these time

frames, for FS/FP and NBS/NBP “*number is indicated in the ZHT auxiliary portion of
the conjugation.

So for example, the Perfective/CA aspect of the verb ‘ilgiFlT would be conjugated as
follows:

(1) The Simple Perfect of the verb qgiFlT “to reach”, is:

MS: ff‘ilg?ﬂ

MPL: &1 Uga

FS: ﬁtlgiﬁ

FPL: &H qgiﬁ (nasalized participle)
NBS : #ugan

NBPL: gH qg?ﬁ' (nasalized participle)

where the Perfect/CA participles @Tﬂ@/ﬂé’iﬁﬂ'ﬁiﬁ/ﬂgﬂ}ﬂgﬁﬁ only indicate that the

action has been completed.



Gautami Shah/STTqHT 9ITg

(i1) In the Present Perfect (recent completion of action), the verb ‘JlgiFlT “to reach”,

would be conjugated as: o
MS-Recent Past: ﬁt@%ﬂi
MPL-Recent Past: W@%
FS-Recent Past: ﬁqﬁi
FPL-Recent Past: gH tlgiﬁ (note: non-nasalized participle tlg:%ﬁ) %
NBS : #ugeig
NBPL: &H q’éﬁ (note: non-nasalized participle ‘Tg'iﬁ) g
where the auxiliary EEll conjugated in the present tense indicates that the action was

completed recently. | )
(iii) In the Past Perfect (remote completion of action), the verb 9gdAT “to reach”, would

be conjugated as: )
MS-Remote Past: ﬁfqg?ﬂ qr

MPL-Remote Past: € Ig &
FS-Remote Past: ﬁqgiﬁ ot
FPL-Remote Past: &H ‘J@?ﬁ (note: non-nasalized participle tlgiﬁ) off
NBS : & uget ot
NBPL: &H ‘Jlg?ﬁ (note: non-nasalized participle ‘leiﬁ) ot
where the auxiliary EE 1) conjugated in the past tense indicates that the action was
completed a while ago.

The English equivalent of the following Perfective/CA sentences with the verb qgﬂﬂT

“to reach”, would be:
ﬁwmmqg%n = I reached on time

LRLD] tr{qg%rrﬁz I have reached on time
R0 Q'{qgiﬂ 9T =1 had reached on time
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IL 3 (Transitive) and non- (Intransitive) verbs
The Perfective/CA aspect is the only aspect where we encounter the ergative case
marker or “agentive postposition” .

The agentive postposition o occurs when the verb being used has an object, whether

explicit or implicit. Such verbs are called transitive verbs(or 7 verbs).

Verbs that do not have an object (largely verbs of motion, etc), are called intransitive
verbs (or non-+ verbs).

A. Transitive/ verbs:

Placement of 7: In a sentence, the agentive postposition ¥ is placed after the person
doing the action. It works like a postposition in that every part of speech preceding it
that has anything to do with it is in the oblique form.

Furthermore, the occurrence of 9 blocks agreement of the verb with so called
subject (person doing the action) of the sentence. Think of it as a “F wall”” coming
up between the doer of the action and the action (Verb) itself, forcing the verb to agree
with the object of the sentence.

So the transitive () verb &M “to eat”, would be conjugated as:
MS/FS/NBS: #% @HT;
Ao sieT @ET; #9 o W,
Ha faetd @g; #Av feat =
MP/FP/NBP: A= @1
BHA SIST WHT, g A &S TG,
TR frete wiE; g« feeat wi
MS/FS/NBS-Recent Past: H3 @7 2;
HY sieT WRTE; 7Y o9 WU E;
He fe @ 2 ; W frereat @ €
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MP/FP/NBP-Recent Past: g0 @1 S

TN ST WATE; T R @OE

T e @ g; e A ot @g €
MS/FS/NBS-Remote Past: &7 =TT oI

B sieT @M ;49 R | 9,

Ha fets @ie off ; /7 fereat @te off
MP/FP/NBP-Remote Past: g4 ET 2T;

U SIS WM AT, WA S WY 9

Note: In Perfective/CA aspect conjugations of transitive verbs (in other words, in )

verbs), the aspect marker and tense agree in gender and number with the object of the
sentences or with that to which something is being done.

If no object is specified, more often than not the conjugated verb is in the masculine
singular, although sometimes, if the object has been established, the gender of the
established object is used even if the object is implied in (immediate) subsequent
conversation.

Pronouns used with the agentive postposition q:

Although the agentive postposition T works as a postposition in that every part of speech
preceding it that has anything to do with it has to be in the oblique form, the pronouns
used along with it differ slightly from the “oblique pronouns” used with simple
postpositions. The pronouns used with the agentive postposition T are as follows:

=97 g9 = gaA
=T qH = ga

;T = M
7 = T ¥ = T
qg = 9O q = g

%97 Singular = fFa9; Plural = ﬁ@ﬁ';
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B. Intransitive/non-+ verbs:

Verbs that do not have an object (largely verbs of motion, etc), are called intransitive
verbs (or non-+ Verbs). These are typically verbs of motion. In their conjugation they

agree with the “doer” of the action, or in other words, the subject of the sentence.

So the intransitive (non—er) verb 34T “to get up”, would be conjugated as:

MS: # 33T

MS-Recent Past: ﬁG’aTi MS-Remote Past: H 33T AT
MP-Recent Past: gH 3%% MPL-Remote Past: €H IS
FS: 33T

FS-Recent Past: ﬁaﬁi FS-Remote Past: # 331 &t

FP-Recent Past: g9 S3i (note: non-nasalized participle 33“[) %
FP-Remote Past: 89 33! (note: non-nasalized participle 3I3) off

#NBS: H 33l

NBS-Recent Past: ﬁ@% NBS-Remote Past: § 33T It
NBP-Recent Past: 81 331 (note: non-nasalized participle 33 g
NBP-Remote Past: 1 I3[ (note: non-nasalized participle 3I30) ot

General note relevant to both transitive and intransitive verbs, and irregular

patterns on the next page.
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General Note relevant to both transitive and intransitive verbs:

1. Verb stems ending in 3 In the Perfective/ CA aspect, if the verb stem ends in the
vowel 3, in the masculine singular conjugation, a @ is placed between the verb stem
and the 31T ending for MS.

So in the masculine singular, the intransitive (non--) verb | “to sleep”, would be
written as:

MS: # dEr

MS-Recent Past: MS: ﬁ?ﬁ'ﬂTé

MS- Remote Past: H ST T
For the masculine plural, one may or may not place a ¥ between the verb stem and

Tending.

For a non-binary voice, given that the suggested non-binary voice marker (
) for a non-binary voice is 31, one would place a ¥ between the verb stem and

the 31l for non-binary singular and 3Tt for non-binary plural.

2. Verb stems ending in §: Similarly, if the verb stem ends in the vowel ¥, in the
masculine singular conjugation, the ¥ is first shortened and then I is placed between

the verb stem and 31T ending of . For the masculine plural, one may or

may not place a q between the shortened g‘ and T ending.
For a non-binary voice, given that the suggested non-binary voice marker (
) is 371, one could place a T between verb stem with a shortened T and the

31t for non-binary singular and 31T for non-binary plural, though it
is technically not required.
Such verbs whose verb stems end in an § usually fall in the category of irregular
conjugations as their Feminine Singular and Feminine Plural conjugations are just their
original verb stem, non-nasalized for FS and nasalized for FPL.
For potential interference/confusion with imperative constructions, see note under
irregular verb conjugations.
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Irregular Perfect/Completed Action Tense conjugations:

Irregular conjugation patterns in the Perfective/CA aspectual forms largely refer to verb
conjugation patterns where the verb stem is slightly modified before applying the general
formula. While there is no one formula for such irregular conjugations in the Perfective/
CA aspect, one can identify a couple of patterns:

Pattern 1 (Pat 1): MS and X (Special verb stem) + (viz. 3/T)
FS and FP: X (Special verb stem) + (viz. 3/2)
NS and NP: X (Special verb stem) + (viz. /31 )

NOTE: If in Pat. 1, X is a consonant with its inherent 3 vowel intact, a T is placed
right after the X (special verb stem) and before the 31T ending for
MS (see example below).

Pattern 2 (Pat 2): MS and X (Special verb stem) + € + (viz. 3/Y)
FS and X (Special verb stem) + (viz. ?/ )
##%NS and NP: X (Special verb stem) + (viz. 3T1/3TT)

NOTE: In Pat 2, since in X (the special verb stem) is followed by the vowel g, in the
masculine singular conjugation, a @ is placed between the X (special verb stem)

and the 31T ending for MS.

The following are some of the more common verbs that have irregular conjugation
patterns in the Perfect/CA tense:

Irregular Verb X MS MP FS FP NBS NBP
Pattern

Pat 1 @7{[ g
Pat 1 NIGHL 1)
%

Pat2 &Il




Irregular Verb X MS MP FS FP NBS NBP
Pattern

Pat 2 a:" i T & i <1 i sk ‘
o

Patz  Zgar 7 famr fe 1 I | S R
fer  femi

Pat2 ogw\r v foumr fu 1 I 1 B
fomr o

(i) ***The NB conjugation for transitive verbs/?r verbs listed above is a theoretical
exercise, as currently there are no non-binary inanimate nouns in Hindi. Animate
nouns too are currently classified on a binary-gender scale in Hindi. The non-binary
conjugations suggested in these notes, for now would largely apply only to people
according to their gender-identification.

(ii) The perfective/CA aspectual form of the verb can be conjugated either in the
irregular form as demonstrated above, or following the pattern of regular
conjugations, where the MS would be &, MP ?5‘{, FS Wﬁ, FP ?b_ﬁ, and NBS and NBP,
when and if it ever occurs, would be & and i respectively. In this regular conjugation

of &I, the NBS B is also the imperative/command form for dH. However, interference
is minimal as, besides context (which drives a lot of Hindi ;-)), the ergative case marker
or “agentive postposition” 7 would leave no ambiguity that it is the perfective/CA aspect
at play. This same comment would apply to the NBS perfect/CA tense conjugation of the
verb UHT, as TU3T is also the imperative/command form for qH.

**Why factor in @ non-binary voice in Hindi verb conjugations?

Until 2014, in India, the parent culture of Hindi, only 2 genders, viz. male and female,
were legally recognized. Transgender, non-binary, transexual, genderqueer and gender-
questioning people were forced to identify themselves within a binary gender
classification. Hindi being a gendered language, we see this traditional binary gender
classification in verb conjugations and in a certain class of nouns and adjectives. Personal
pronouns on the other hand are gender neutral in Hindi.

In April 2014, in a landmark ruling, the Supreme Court of India formally recognized the
rights of transgender, non-binary, transexual, genderqueer and gender-questioning people



to determine their gender as neither male nor female, thereby affirming the existence of a
third gender, and ending traditional binary gender classifications.

Although this ruling has had a tremendous impact on gender identification, as far as the
Hindi language is concerned, other than being able to choose a “third box™ which is
neither male nor female on official forms, gender expression in Hindi is still binary.
While the masculine plural form is often used across genders in some parts of India and
hence could conceivably be used as a “gender neutral" expression, it is still problematic
for many as it could be perceived masculine. Like many other gendered languages, Hindi
has yet to catch up with realities of identity.

Proposing a non-binary conjugation, is an avant-garde attempt to address the limitations
posed by the gendered nature of verb conjugations in Hindi. It is not (yet :-)) part of the
Hindi language.

At the very least, such an attempt will hopefully start the much needed conversation
about the gendered nature of Hindi and realities of identity.
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